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1 213 4 51 6 7 | 8 91 10 |11 12 13 14 15] 16 17 18 19
Xepescbke [-2 | 23] 12.] - - 10C3+/13+bn 961 0,6 | 1 28 36 390 3 | BCP o 20
Xepescoke |[-6 | 4| 1,5 - - - 9C31 [I3+bn+0c¢ 761 0,7 | la 28 32 440 4e| BCP -E %[ 25
Kepescoke | 6 [ 18] 1.3.] - - - 10C3 661 0,8 |1a 25 28 460 4¢] BCP E L% 20
XKepescbke -6 | 19| 0,7.§ - - - 10C3+[13+bn+0c 761 0,7 | la 28 36 500 4e| BCP g 'g 25
Kepeecbke |- 7 |22 1,7.1} - - - 10C3+/13 64108 |1 24 28 435 4¢|BCP| - 5 30 2
XKepescoke |[-8 | 7| 16,8] - - - 5b6n50c¢+C3+/I3+I3 | 711 0,8 | 1 25 28 360 4 ¢ | BCP § 80 = 20 2
XKepeecoke |- 8 | 11| 2,7+ - - - 10C3+][3+13 65] 0,711 24 28 360 4 ¢ | BCP § :g 5 30 g
Yepepcbke 9 118] 3,6 - - - 10C3+/13+bn 66] 0,8 | 1 21 - 24 380 4¢|BCP| 2 §‘ 3 25 ﬁ
XKepescbke | 13 |20| 2,6-] - - - 10C3+/I3+bn+Oc | 58] 0,7 | | 22 24 320 4 ¢| BCP E = 30 =
XKepesrcbke | 16 | 15| 02| - - - 8/131C31bn 76| 0,8 | 1 23 24 300 4¢|BCP| 5 & 25
XKepescoke [ 16 [ 17} 0,6 | - - - 6C32/132I'3+bn 66| 0.8 | la 26 28 360 4¢| BCP E é 25
Kepescoke | 16 [ 19} 7.7 - - - 9C31/I3+bn+0c 681 0,811 25 28 430 4¢|BCP| ¢ & 25
XKepescoke | 17| 6 | 42| - - - 10C3+/13 911 06 | 1 27 32 380 4¢|BCP £ 30




Kepescbke |17]114]| 5,5 | - - - 10C3+/I3+bn+O0c+I3 | 66 | 0,8 | 1 22 22 350 4 ¢|BCP 35
Kepescvke | 17122 82.| - - - 9C31/3+bn 761 0,8 | 1 23 24 360 4¢| BCP E 25
XKepesceke [.18 |37{ 0,6.] - - - 7C33bn+/3+0c 711 0,8 | 1a 28 36 400 4¢|BCP § 30
XKepescoke | 18 {38 0,6 | - - - 10C3+]/[3+Ak6 76| 0,711 26 36 440 4 ¢ | BCP :ﬂ 35
Kepebceke |18 40| 1,3 - - - 10C3+/13 761 0,8 |1 23 28 410 4e|BCP :g 30
XKepebcoke [ 21} 6 | 39 ] - - - 9C31I3+bn+0c¢ 711 0,7 | la 26 32 390 4¢{BCP o 20
Kepebcbke [ 22| 1| 0,7:] - - - 10C3+bn 681 0,7 | 1a 26 28 450 4 e | BCP ‘; 30
Kepescpke [ 24| 3 | 7,6 - - - 10C3+H/I3+bn+0c+I3 | 66 | 0,7 [ 16 28 32 470 4¢|BCP 2 35
Kepesceke | 29| 10] 16,3'] - - - 10C3+/I3+I3+Ak6 | 64| 0,7 | 1 24 26 370 4e) BCP § 20
Kepebcbke | 30| 2 | 34| - - - 10C3 641 0,8 | 1 22 22 380 4¢|BCP = 30
Kepescbke (30|12 7,1 - - - 10C3+13+0c 69108 |1 25 26 450 4e| BCP §- 30
Kepescbke | 31 13| 2,5 - - - 10C3+][3+1"3 691 0,8 |la 26 32 490 4e|BCP ,: 35
Kepebcbke | 41| 14 3,5.( - - - 10C3+/I3+6n 69 0,82 20 22 340 4e| BCP % 30 %
Kepescoke 43112 49 - - - 10C3+/]3+bn 67109 |1 22 24 420 4e|BCP .é 20 g
Kepescoke [ 45] 4 | 0,7 - - - 10C3+bn 761 0,7 | 1 23 26 360 3e|BCP -3 35 =
Kepescbke | 56 | 17] 0,9 - - - 6C33bn1Bma+Oc 711 0,8 | 1 23 28 310 4¢|BCP Ef; 30 2
XKepescvke | 58 | 13| 3,6 [(2)] 3,1 3,1 10C3+Bn 66| 0,7 | 1 22 24 360 4¢|BCP -E 20
Kepebcbke | 68 |24 52°| - - - 10C3+bn+Bnu 711 0,7 | 1 23 28 340 4¢)BCP E 20
Kepescbke | 75|12 53| - - - 8C32JI3+bn+Knr+I'3 | 66| 0,8 | | 24 28 395 4e|BCP k> 20
Kepescbke | 76 | 10| 22| - - - 10C3 86| 0,6 | 1 27 32 380 4e|BCP E 35
Kepebcbke | 76 [ 19| 14| - - - 10C3 86] 0,6 |1 28 32 430 4e|BCP g 30
XKepescrke | 77| 6 1,2 - - - 10C3 711 0,6 | 1a 26 32 360 3 | BCP Lg: 35
Kepescoke | 78 122 1,1+ - - - 10C3+/]3+bn 661 08 1 23 26 380 4¢|BCP 2 40
XKepescbke | 81 131 7.8 [(2)] 69 6,9 9C31bn+Bay 71108 | 1 23 28 380 4¢|BCP S 25
Kepescoke | 81 18] 21,0'] - - - 8C3(71)2C3(51)+bn | 71] 0,8 | | 24 28 420 4e¢|BCP é 15
Kepescbke [104] 16| 3,6 [(3)] 2,5 2,5 10C3+/I3+bn 531 0,711 20 22 280 4e| BCP g 30
Kepescbke [114] 15| 0,7 - - - 10C3+/13 66 0,8 | 1a 27 36 490 4e|BCP g 30
Kepescbke [114] 16| 1,7°] - - - 4C330c2bn 103 66| 0,8 |1a 2 - 28 320 4¢|BCP 35
Paszom 1673 12,5 12,5
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